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Monitors (block/reablock)

-> design pattern for synchronizing threads based on events & conditions

-> condition, condition variable ,
lock

-> cr-wait
, cr-signal , CV-broadcast
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Synchronization Problem : coffee
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Synchronization problem : making breakfast paucalse
Starter code : I needs /pancake & 2 benies for breakfast

Lock Ik; function plate-breakfast) [ 3
Londrar breakfast-IV;
int pancake = 0;

11 produce I pancake at a time

int beries =0 ;
function make pancakel) [ 3 .

I/refill 10 beries at a time

function refill-berries) 9 3



Lock Ik;

Londrar breakfast. I; make-pancake1)[
int pancake = 0;
int beries =0 ; Ik.acquirel) ;

pancake+t;
function plate-breakfastl) [ breakfast-cr . signall);
IK, acquirel) ; Ok , releasel ;
while (pancake <1 Il benies <2) < 3
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breakfast-cr ,wait(IK);

I similar code for benies
11 assert) ! Pancale</ &d ! beries <2) ;
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lk. release () ;
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Bounded Buffer Problem
A
1111111 fixed size buffer : Nelements

aProducer : produce item and put into an empty slot ,

blocks if no room to put item (buffer is full)

Consumer : consume item from a slot
,
blocks if no item to consume

starter code

char buffer [N] ;
int consume-ofs =0; I/ consumer reads here
int produce -ofs = 0; /1 producer writes here
int count =0; 11 # of items in the buffer .

11 returns consumed item

function produce(item) function consume()
3
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